Mass Histograms
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Results

Student Dataset Kaon Masses

5 5 [0.497,0.495,0.501,0.490,0.490]

6 6 [0.498,0.496,0.501,0.493,0.500,0.496,0.502,0.494,0.500,0.489,0.502,0.504,0.495]
0 0 [0.493,0.496,0.493,0.425,0.503,0.495,0.502,0.505,0.507,0.497,0.491]

3 3 [0.431,0.498,0.496,0.503,0.507,0.493,0.499,0.481,0.502,0.452]

4 4 [0.495,0.493,0.502,0.418,0.399,0.491,0.495,0.500,0.534,0.488]

1 1 [0.499,0.491,0.517,0.500,0.492,0.498,0.494,0.510,0.497,0.500,0.482,0.489]

2 2 [0.496,0.494,0.496,0.480,0.496,0.498,0.499,0.495,0.499,0.486,0.495,0.493,0.492]

1.30 1.35 1.40
Invariant Mass (GeV/c?)

Lambda Masses Anti-Lambda Masses

[1.129] I
[1.116] [1.176]
[1.172] [1.116,1.116,1.150]
[1.116,1.116,1.117,1.119,1.194] ||
[1.119] [1.1151.117,1.146,1.114]
[1.114] [1.117,1.119]
[1.118] [1.121]
ltems per page: 5 v 0of0

T
1.30 1.35 1.40
Invariant Mass (GeV/c?)

C

Xi Masses

I
I
I
I
I
I

[



